
SAP ABAP table ICSPOLOWA {Insured Watercraft}

ICSPOLOWA

CLIENT [CLNT (3)]

ACTIVE [CHAR (1)]

CLAIM [CHAR (17)]

POLVNR [NUMC (2)]

INSUREDOBJ [NUMC (4)]

CHANGETIME [DEC (15)]

CHANGEDBY [CHAR (12)]

HULLMATERIAL [CHAR (2)]

WATCRAMAKE [CHAR (4)]

WATCRAMODEL [CHAR (4)]

LENGTHUNIT [UNIT (3)]

ENGINEMAKE [CHAR (4)]

ENGINEMODEL [CHAR (4)]

POWERUNIT [UNIT (3)]

ICLPOL

CLIENT [CLNT (3)]

ACTIVE [CHAR (1)]

CLAIM [CHAR (17)]

POLVNR [NUMC (2)]

 ICSPOLOWA-CLAIM = ICLPOL-CLAIM 

0..N

0..N

 ICSPOLOWA-POLVNR = ICLPOL-POLVNR 
0..N

0..N

ICLPOLO

CLIENT [CLNT (3)]

ACTIVE [CHAR (1)]

CLAIM [CHAR (17)]

POLVNR [NUMC (2)]

INSUREDOBJ [NUMC (4)]

 ICSPOLOWA-INSUREDOBJ = ICLPOLO-INSUREDOBJ 
0..N

0..N

ICLPROPMA

CLIENT [CLNT (3)]

PROPCAT [CHAR (2)]

PROPMAKE [CHAR (4)]

 ICSPOLOWA-ENGINEMAKE = ICLPROPMA-PROPMAKE 
0..N

0..N
 ICSPOLOWA-WATCRAMAKE = ICLPROPMA-PROPMAKE 

0..N

0..N

ICLPROPMO

CLIENT [CLNT (3)]

PROPCAT [CHAR (2)]

PROPMAKE [CHAR (4)]

PROPMODEL [CHAR (4)]

 ICSPOLOWA-ENGINEMODEL = ICLPROPMO-PROPMODEL 
0..N

0..N  ICSPOLOWA-WATCRAMODEL = ICLPROPMO-PROPMODEL 0..N0..N

T000

MANDT [CLNT (3)]

 ICSPOLOWA-CLIENT = T000-MANDT 

0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 ICSPOLOWA-LENGTHUNIT = T006-MSEHI 

0..N

0..N

 ICSPOLOWA-POWERUNIT = T006-MSEHI 

0..N

0..N

TICL305

CLIENT [CLNT (3)]

HULLMATERIAL [CHAR (2)]

 ICSPOLOWA-HULLMATERIAL = TICL305-HULLMATERIAL 

0..N

0..N

USR02

MANDT [CLNT (3)]

BNAME [CHAR (12)]

 ICSPOLOWA-CHANGEDBY = USR02-BNAME 

0..N

0..N


